1014
PFU/mL

1054

1055

10104

PFU/mL

10°4

10°-

1055

10104

PFU/mL

10°4

100+

1055

10104

PFU/mL

10°4

100+

Q e,

10104

PFU/mL

10°

10'5 5

1010

PFU/mL

10°

10155

1004
PFU/mL

1085

10155

Empty Vector

=
=
=

T2 T4 T5 T6 Avir M13 T3 QB MS2
bNACHTO09

=

T2 T4 T5 T6 Avir M13 T3 QB MS2
bNACHT22

=
=
=

T2 T4 T5 T6 Avir M13 T3 QB MS2

bNACHT27

=
3
3

T2 T4 T5 T6 Avir M13 T3 QB MS2
bNACHT34

.
=

T2 T4 T5 T6 Avir M13 T3 QB MS2
bNACHT44

=
%
i
=

T2 T4 T5 T6 Avir M13 T3 QB MS2
bNACHT70

100

=

T2 T4 T5 T6 Avir M13 T3 QB MS2

105 5

10104

1054

1004

1055

1074

1054

100

1055

10104

1054

10°-

105 5

10104

1054

105 5

10104

1054

105 5

1004

1054

105 5

1004

1054

bNACHTO1

T2 T4 T5 T6 Avir M13 T3 QB MS2

bNACHT11 G

=

T2 T4 T5 T6 Avir M13 T3 QB MS2

bNACHT23 K

T2 T4 T5 T6 Avir M13 T3 QB MS2

bNACHT28 o

T2 T4 T5 T6 Avir M13 T3 QB MS2

bNACHT37 S

T2 T4 T5 T6 Avir M13 T3 QB MS2

bNACHT45 w

T2 T4 T5 T6 Avir M13 T3 QB MS2

VCCBASS AA

1004

=
=

T2 T4 T5 T6 Avir M13 T3 QB MS2

1015 5

10104

104

100-

1015 5

10104

10°4

100

105 5

10104

10°4

10°-

1055

10104

10°4

100

1055

10104

10°4

100

1053

10104

10° 5

100+

10155

10104

108 5

bNACHTO02

T2 T4 T5 T6 Avir M13 T3 QB MS2
bNACHT12

=
=

T2 T4 T5 T6 Avir M13 T3 QB MS2
bNACHT24

T2 T4 T5 T6 Avir M13 T3 QB MS2
bNACHT30

T2 T4 T5 T6 Avir M13 T3 QB MS2
bNACHT42

=
=

T2 T4 T5 T6 Avir M13 T3 QB MS2
bNACHT64

T2 T4 T5 T6 Avir M13 T3 QB MS2
EcoAlRM

100-

T2 T4 T5 T6 Avir M13 T3 QB MS2

107+ bNACHTO4

1074

105 l—I—I‘—I—I—I‘l
100

T2 T4 T5 T6 Avir M13 T3 QB MS2
bNACHT16

1055

10104

1054

100-
T2 T4 T5 T6 Avir M13 T3 QB MS2

1075+ bNACHT25
1010+
10°4
100~

T2 T4 T5 T6 Avir M13 T3 QB MS2

1075+ bNACHT32
1010+
10°4
10°-

T2 T4 T5 T6 Avir M13 T3 QB MS2
bNACHT43

10104

1054

T2 T4 T5 T6 Avir M13 T3 QB MS2
bNACHT67

1055

10104

1054

100+
T2 T4 T5 T6 Avir M13 T3 QB MS2



